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Question Id : 92090615794 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India's fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. I can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found gulty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090615795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the term ‘incognito’ is:

(1) Inclusive (2) Inaudible
(3) Undutiful (4) Concealed
Options :

92090662401. 1
92090662402. 2
92090662403. 3
92090662404. 4

Question Number : 2 Question Id : 92090615796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090662405. 1
92090662406. 2
92090662407. 3
92090662408. 4

Question Number : 3 Question Id : 92090615797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The antonym of ‘remission’ is:
(A) Exoneration

(By Censure

(C)  Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1)  (A)and (B)
(2)  (B)and (C)
(3)  (B)and (D)
(4) (D) only
Options :
92090662409. 1
92090662410. 2

92090662411. 3
92090662412. 4

Question Number : 4 Question Id : 92090615798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Going incognito’ means:

(A) Using false name
(BY Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2) (A), (B)and (C)

(3)  (A), (B), and (D)

(4) (A, (B), (C) and (D)

Options :

92090662413. 1
92090662414. 2
92090662415. 3
92090662416. 4



Question Number : 5 Question Id : 92090615799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India 1s ranked 161, behind nations such as Pakistan, Afganistan ete.
(3) Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090662417. 1
92090662418. 2
92090662419. 3
92090662420. 4

Question Id : 92090615794 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India’s fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. [ can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found guilty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090615795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the term ‘incognito’ 1s:

(1) Inclusive (2) Inaudible
(3)  Undutiful (1) Concealed



Options :

92090662401. 1
92090662402. 2
92090662403. 3
92090662404. 4

Question Number : 2 Question Id : 92090615796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090662405. 1
92090662406. 2
92090662407. 3
92090662408. 4

Question Number : 3 Question Id : 92090615797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘remission’ is:
(A) Exoneration
(B) Censure
(C) Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1) (A) and (B)
(2)  (B)and(C)
(3) (B)and (D)
(4) (D) only

Options :
92090662409. 1



92090662410. 2
92090662411. 3
92090662412. 4

Question Number : 4 Question Id : 92090615798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘(zoing incognito’ means:

(A) Using false name
(B) Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2 (A), (B)and (C)

(3)  (A), (B), and (D)

(4)  (A), (B), (C) and (D)

Options :

92090662413. 1
92090662414. 2
92090662415. 3
92090662416. 4

Question Number : 5 Question Id : 92090615799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India is ranked 161, behind nations such as Pakistan, Afganistan ete.
(3)  Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090662417. 1
92090662418. 2
92090662419. 3



92090662420. 4

Sub-Section Number : 2
Sub-Section Id : 920906512
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090615800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word VINDICTIVE' is

(1) Revengeful (2) Bigoted
(3)  Demonstrative (4) Strategic
Options :

92090662421. 1
92090662422. 2
92090662423. 3
92090662424. 4

Question Number : 6 Question Id : 92090615800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word "VINDICTIVE' 1s

(1) Revengeful (2) Bigoted
(3) Demonstrative (4) Strategic
Options :

92090662421. 1
92090662422. 2
92090662423. 3
92090662424. 4

Question Number : 7 Question Id : 92090615801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city 1s slowly finding takers most of them college
students who would earlier depend cabs and bike taxis
commuting.
(1) in, upon, to (2) in, on, for
(3) in.off, for (4) on, with, on

Options :

92090662425. 1
92090662426. 2
92090662427. 3
92090662428. 4

Question Number : 7 Question Id : 92090615801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city is slowly finding takers most of them college
students who would earher depend cabs and hike taxis
commuting.
(1) in, upon, to (2) 1in, on, for
(3) in.off, for (4) on, with, on

Options :

92090662425. 1
92090662426. 2
92090662427. 3
92090662428. 4

Question Number : 8 Question Id : 92090615802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090662429. 1
92090662430. 2
92090662431. 3
92090662432. 4

Question Number : 8 Question Id : 92090615802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090662429. 1
92090662430. 2
92090662431. 3
92090662432. 4

Question Number : 9 Question Id : 92090615803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (40 BITUMINIZE
Options :

92090662433. 1
92090662434. 2
92090662435. 3
92090662436. 4



Question Number : 9 Question Id : 92090615803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (1) BITUMINIZE
Options :

92090662433. 1
92090662434. 2
92090662435. 3
92090662436. 4

Question Number : 10 Question Id : 92090615804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces 1s called:

(1) Agoraphobia (2) Anachronism
(3)  Anecdote (4) Apiary
Options :

92090662437. 1
92090662438. 2
92090662439. 3
92090662440. 4

Question Number : 10 Question Id : 92090615804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces is called:

(1) Agoraphobia (2) Anachronism
(3) Anecdote (4) Apiary
Options :

92090662437. 1
92090662438. 2
92090662439. 3
92090662440. 4



Question Number : 11 Question Id : 92090615805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 (4) 5
Options :

92090662441. 1
92090662442. 2
92090662443. 3
92090662444. 4

Question Number : 11 Question Id : 92090615805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 4 5
Options :

92090662441. 1
92090662442. 2
92090662443. 3
92090662444. 4

Question Number : 12 Question Id : 92090615806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of " +x* - x' —x" +x-1.

(1) 280 (2) 270
(3) 290 (4) 300
Options :

92090662445. 1
92090662446. 2



92090662447. 3
92090662448. 4

Question Number : 12 Question Id : 92090615806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of x" +x* - x* —x" +x-1.

(1) 280 2) 27
(3) 290 (4) 300
Options :

92090662445. 1
92090662446. 2
92090662447. 3
92090662448. 4

Question Number : 13 Question Id : 92090615807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50¢m respectively. Find
the side of the new cube formed by melting the three cubes (in em)

(1) 60 (2) 120
3) 90 (4) 80
Options :

92090662449. 1
92090662450. 2
92090662451. 3
92090662452. 4

Question Number : 13 Question Id : 92090615807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50em respectively. Find
the side of the new cube formed by melting the three cubes (in ¢m)

(1) 60 (2) 120
3) 90 (4) 80



Options :

92090662449. 1
92090662450. 2
92090662451. 3
92090662452. 4

Question Number : 14 Question Id : 92090615808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only ¥ 12,580. If the annual
rate of compound interest 1s 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090662453. 1
92090662454. 2
92090662455. 3
92090662456. 4

Question Number : 14 Question Id : 92090615808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only  12,580. [f the annual
rate of compound interest is 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090662453. 1
92090662454. 2
92090662455. 3
92090662456. 4

Question Number : 15 Question Id : 92090615809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 L =l
3 3
Options :

92090662457. 1
92090662458. 2
92090662459. 3
92090662460. 4

Question Number : 15 Question Id : 92090615809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 & — %0
3 3
Options :

92090662457. 1
92090662458. 2
92090662459. 3
92090662460. 4

Question Number : 16 Question Id : 92090615810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5, 22 57, 1186,
(1) 216 (2) 205
(3) 207 (4) 192
Options :
92090662461.
92090662462.

92090662463.
92090662464.

AW N =



Question Number : 16 Question Id : 92090615810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5,22 57 118,
(1) 216 (2) 205
(3 207 (4) 192
Options :
92090662461.
92090662462.

92090662463.
92090662464.

AW NN~

Question Number : 17 Question Id : 92090615811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

{(A) Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C)  Diseases, Leprosy, Scurvy
(D) Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1)  (A) and(B) only
(2) (B) and (D) only
(3)  (A) and (D) only
(4)  (C) and (E) only
Options :



92090662465. 1
92090662466. 2
92090662467. 3
92090662468. 4

Question Number : 17 Question Id : 92090615811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

(A)  Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C) Diseases, Leprosy, Scurvy
(D)  Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1) (A) and(B) only
(2) (B) and (D) only
(3 (A) and (D) only
(4) (C) and (E) only

Options :

92090662465. 1
92090662466. 2
92090662467. 3
92090662468. 4

Question Number : 18 Question Id : 92090615812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090662469. 1
92090662470. 2
92090662471. 3
92090662472. 4

Question Number : 18 Question Id : 92090615812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090662469. 1
92090662470. 2
92090662471. 3
92090662472. 4

Question Number : 19 Question Id : 92090615813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090662473. 1
92090662474. 2
92090662475. 3
92090662476. 4

Question Number : 19 Question Id : 92090615813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090662473. 1
92090662474. 2
92090662475. 3
92090662476. 4

Question Number : 20 Question Id : 92090615814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indians ﬁ Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1) 3 (2) 6
(3) 2 (4) 4
Options :

92090662477. 1
92090662478. 2
92090662479. 3
92090662480. 4

Question Number : 20 Question Id : 92090615814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians n Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1 3 (2) 6
(3) 2 (4 4
Options :

92090662477. 1
92090662478. 2
92090662479. 3
92090662480. 4

Question Number : 21 Question Id : 92090615815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal
Options :

92090662481. 1
92090662482. 2
92090662483. 3
92090662484. 4

Question Number : 21 Question Id : 92090615815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal



Options :

92090662481. 1
92090662482. 2
92090662483. 3
92090662484. 4

Question Number : 22 Question Id : 92090615816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla () Esrad
Options :

92090662485. 1
92090662486. 2
92090662487. 3
92090662488. 4

Question Number : 22 Question Id : 92090615816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla (4) Esrad
Options :

920906624385. 1
92090662486. 2
92090662487. 3
92090662488. 4

Question Number : 23 Question Id : 92090615817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Largest Gas pipe line in India is operated by which company?

(1) Relianece Petroleum (2) GAIL
(3) ONGC (4) Bharat Petroleum



Options :

92090662489. 1
92090662490. 2
92090662491. 3
92090662492. 4

Question Number : 23 Question Id : 92090615817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Largest Gas pipe line in India is operated by which company?

(1) Relianee Petroleum (2) GAIL
(3) ONGC {(4) Bharat Petroleum
Options :

92090662489. 1
92090662490. 2
92090662491. 3
92090662492. 4

Question Number : 24 Question Id : 92090615818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be recyeled 100%?

(1) Food waste (2) Glass bottles
(3) Alluminium ecans (4) Card board
Options :

92090662493. 1
92090662494. 2
92090662495. 3
92090662496. 4

Question Number : 24 Question Id : 92090615818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be recycled 100%?

(1) Food waste (2) Glass bottles
(3)  Alluminium cans (1) Card board
Options :

92090662493. 1
92090662494. 2
92090662495. 3
92090662496. 4

Question Number : 25 Question Id : 92090615819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52r Amendment of constitution of India

Statement II  :  99th Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

92090662497. 1
92090662498. 2
92090662499. 3
92090662500. 4

Question Number : 25 Question Id : 92090615819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I ¢ “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52 Amendment of constitution of India

Statement II  : 99t Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given

below *

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 1l is correct

Options :

92090662497. 1
92090662498. 2
92090662499. 3
92090662500. 4

Part B: Nano Science Nano Technology

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 26 Question Id : 92090615820 Question Type : MCQ Option Shuffling : No Is

920906314
2

Online
Mandatory
75

75

300

Yes

0

1
920906513
Yes

null

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



One mole of Helium, Hydrogen, Nitrogen and Carbon dioxide are filled in four

different containers at the same temperature.

Which of the following has minimum energy :

(1) Helium (2) Hydrogen
(3) Nitrogen {4y Carbon dioxide
Options :

92090662501. 1
92090662502. 2
92090662503. 3
92090662504. 4

Question Number : 26 Question Id : 92090615820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FifctaH, BESiaA, ATEeiaq 3 H1EA 18 ATFEES & U Hid &l GHH 999 T =1 37T~
T a1 B 9 TR 2 | gAaY S, Taudt 2, 98 7

(1) iferm (2) wETEgA
(3) ATEEEA (4) wHTEA B3 FFEES
Options :

92090662501. 1
92090662502. 2
92090662503. 3
92090662504. 4

Question Number : 27 Question Id : 92090615821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a cross AaBbCcx AaBbCe number of genetypic class formed will be:

(1) 9 2y 18
(3) 27 (4) 36
Options :

92090662505. 1



92090662506. 2
92090662507. 3
92090662508. 4

Question Number : 27 Question Id : 92090615821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AaBbCe x AaBbCe = TR H, T4 9T S %9 I ST 8-

1y 9 (2) 18
@ 27 (4) 36
Options :

92090662505. 1
92090662506. 2
92090662507. 3
92090662508. 4

Question Number : 28 Question Id : 92090615822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Statement (I) : Barazine which is isoelectronic with benzene has molecular formula B, H,; .

Statement (II): Barazine on heating gives polymers on heating gives polymers substances

like inorganic napthalene

In the light of the above statements choose the correct answer from the options given below
(1) Both Satement | and Statement I1 are true

(2) Both Satement | and Statement I1 are false

(3) Statement [ is true but statement I is false
(4) Statement I is false but statement 11 is true
Options :

92090662509. 1
92090662510. 2
92090662511. 3
92090662512 4



Question Number : 28 Question Id : 92090615822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EICRARC T C R A
%y (D) : ARFAM A T F=A17 & 1Y THICECH] 8, 1 310G T B B, .
Fy (1) : T F T il agerh Tgd S M-S AT ¢ar g |
I HUA = 37 °, A= fGu T fawedi § 8§ ga8 I9gE I 1 9949 S0
(1) 9 (1) 3R (1) 2Hi w8 & |
(2) w9 (D) A7 (D) A T 2 |
(3) @A (1) =wet 2, wifed e (1) Tod 2 |
4)  FU (1) T4 B, s A (1) T8 2|

Options :

92090662509. 1

92090662510. 2

92090662511. 3
92090662512. 4

Question Number : 29 Question Id : 92090615823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List 1 List 1
Cytone Origin
(A) Interleukin 1 (I Cytotoxic T Cells
(B) Interleukin 6 (I) Macropahges
() Interferons (IIT)y Heper T cells
(D) Micro migration inhibiting factor (IV) Virus — infected Cells

Choose the the correct answer from the options given below:

(L (A)-(IID), (B)-(1), (C)-(IV), (D)-(1I)
(2) (A)-(IT), (B)-(LLI), (C)-(I), (D)-(IV)
(3) (A)-(I1D), (B)-(11), (C)-(IV), (D)-(D)
(4) (A)-(D), (B)-(I1I), (C)-(IV), (D)-(1I)

Options :

92090662513. 1
92090662514. 2
92090662515. 3
92090662516. 4

Question Number : 29 Question Id : 92090615823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% =1y =t 11 &1 ferms il |

il T 11
hifITR 28 e
(A) FaogHH 1 (D =hifeepay T =hifemed
(3eTgHMH)
(B) a:egHhH 6 (IT) FEaTEFH]
(L)
(C) 3eTHA (I1T) &= T S
(D) HET9ES YaTH HgHH HRH (IV) Taram 7 ifymeend

Fi= feu v fameqt o & 3faa s = =53 Sifau

(1) (A)-(IID, (B)-(I), (C)-(IV), (D)-(IT)
(2)  (A)-II), (B)-(IIL), (C)«(I), (D)-(IV)
(3)  (A)-(I1D), (B)-I), (C)-(IV), (D)-(D)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(II)

Options :

92090662513. 1
92090662514. 2
92090662515. 3
92090662516. 4

Question Number : 30 Question Id : 92090615824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

List I List I1
Types Working Torsinal Strain
(A) DnaB (I} Relieves torsional straint
{(B)Y Dnaég (Il Unwinds DNA
() DnaA (III) synthesis of RNA primer
(I DNA topoisomerase [I (IV) opens duplex of DNA at specific site
orie

Choose the the correct answer from the options given below:

(L (A)-(II), (B)-(1I), (C)-(IV), (D)-(D)
(2) (A)-(ID), (B)-(I1T), (C)-(D), (D)-(IV)
(3) (A)-(ID), (B)-(L1T), (C)-(IV), (D)-(D)
(4) (A)-(IV), (B)-(D), (C)-(1T), (D)-(I1I)

Options :

92090662517. 1
92090662518. 2
92090662519. 3
92090662520. 4

Question Number : 30 Question Id : 92090615824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% w19 5= 11 %1 faem ifen |

T I gt 11
LN EaE
(A) Dna B (1) fomvd fasfa = fewms
(B) Dna 6 (II) DNA Eie
(C) Dna A (IIT) RNA 9T35T =T Hyeu0
(D) DNA (IV) Tafsre == 3376 @ DNA & 29 &1 @

Fie feu o fasmeqi @ 9@ 3faa 3w =1 599 Sifaw

(1) (A)-(IID), (B)-(ID), (C)-(IV), (D)-(D)
(2  (A)-ID), (B)-(II), (C)-(I), (D)-AV)
(3)  (A)-(D), (B)-(IID), (C)-(IV), (D)-()
@) (A)-aV), B)-1), (C)-(1D), (D)-(IID)

Options :

92090662517. 1
92090662518. 2
92090662519. 3
92090662520. 4

Question Number : 31 Question Id : 92090615825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements:

Statement I: For first order reaction, rate of reaction is independent of the initial
concentration of the reactant.

Statement II: For Zero order reaction the rate constant is independent of the concentration of
the reactant.

In the light of the above statements, choose the most appropriate answer from the options
given below:

Both Statement I and Statement II are correct

Both Statement I and Statement I1 are incorrect

Statement I is correct but Statement II is incorrect

Statement I is incorrect but Statement I is correct

Options :

92090662521. 1
92090662522. 2
92090662523. 3
92090662524. 4

Question Number : 31 Question Id : 92090615825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A <1 YA feu T E

sitsee (1) : w9 &t sifufsean & fou, st @ sifiens &t smend dga & @
&t 21

FfepeA (1) : ¥ 0 SAtufwan & fou, o forns iy i |igar & @ 2 2 |

Yk ARG  Ted H, i U e fashedi # # 3fa I H 9= Hif

(1) sfEE (1) i st (1) 21 &6 £ |

(2) Ffwaa (1) 3R fiEegs (1) 241 e 8 |

(3) sfiema (1) @l &, <l st (1) Tera 2 |

(1) 3R (1) e &, e ey (10 &8 2 |

Options :

92090662521. 1
92090662522. 2
92090662523. 3
92090662524. 4

Question Number : 32 Question Id : 92090615826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11

List I List IT
Physical quatity Unit
(A) Energy (I} tesla
(B) Power (I Watt
(C) Magnetic Field (IITy Weber
(D) Magnetic fluse (IV) Joule

Choose the the correct answer from the options given below:

(L (A)-(1T), (B)-(I1T), (C)-(IV), (D)-(D)
(2) (A)-(IID), (B)-(D), (C)-(IV), (D)-(II)
(3) (A)-(IV), (B)-(III), (C)-(1T), (D)-(D)
(4) (A)-(IV). (B)-(1I), (C)-(I), (D)-(I1I)



Options :

92090662525. 1
92090662526. 2
92090662527. 3
92090662528. 4

Question Number : 32 Question Id : 92090615826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot 1% =y gt 11 &1 fiem $ifaw )

T 1 il

wifere T 3H1S
(A) Fwi Iy &
(B) wifem (I) =7e
(C) Je=ehia & (III) <=1
(D) Freehr Fered (IV) <[

di= feu o fasredi 0 & 3fua 3 %1 994 Sifsw .

(1) (A)-D), (B)-(I1D), (C)-(IV), (D)-(D)
(2)  (A)-ID), (B)-(D), (C)-(AV), (D)-(II)
(3)  (A)-(IV), (B)-(I1D), (C)-(1), (D)-(T)
(1) (A)-(IV), (B)-(II), (C)«(T), (D)-(I1I)

Options :

92090662525. 1
92090662526. 2
92090662527. 3
92090662528. 4

Question Number : 33 Question Id : 92090615827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List 1 List IT
Physical constant Unit
(A) (Gas Constant @M Jk!
(B) Boltzman Constant (1) Nm2 Kg 2
(C) Permeability of vaccume (1T Tk Zmol -1
(I Constant of gravitation (IV) NAZ

Choose the the correct answer from the options given below:

(L (A)-(1D), (B)-(I1T), (C)-(IV), (D)-(D)
(2) (A)-(I1T), (B)-(IV), (C)-(I), (D)-(II)
(3) (A)-(IIT), (B)-(I), (C)-(IV), (D)-(II)
(4) (A)-(IV), (B)-(D), (C)-(1I), (D)~(11I)

Options :

92090662529. 1
92090662530. 2
92090662531. 3
92090662532. 4

Question Number : 33 Question Id : 92090615827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 |y =0 11 &1 faem Hife |

g 1 T 11
wifos o 5T
(A) 75 e m &
(B) diegadm fem () Nm*Kg?
(C) foafa =t arersm (II1) ok 2mol ™
(D) T fens (IV) NAZ

Hi= feu 7o faweqt @ & 3faa s =1 =99 i

(1) (A)-ID, (B)-IID), (C)-(IV), (D)-(I)
(2)  (A)-I), (B)-AV), (C)-(@), (D)-(II)
3 (A)-ID), (B)-(D), (C)-aV), (D)-(IT)
@) (A)-IV), B)-(1), (C)-(1D), (D)-(I1L)

Options :

92090662529. 1
92090662530. 2
92090662531. 3
92090662532. 4

Question Number : 34 Question Id : 92090615828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements:

Statement I: H;C;CH,CH,Br When treated with EtONa gives predominantly
H.CLCH =CH, through Carbanion intermediate.

Statement II: EtONa acts as a strong base hence abstaracts proton.

In the light of the above statements, choose the most appropriate answer from the options
given below:

Both Statement | and Statement Il are correct

Both Statement | and Statement Il are incorrect

Statement I is correct but Statement 11 is incorrect

Statement I is incorrect but Statement I1 is correct

Options :

92090662533. 1
92090662534. 2
92090662535. 3
92090662536. 4

Question Number : 34 Question Id : 92090615828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A= 2 e feg e E

AwHH () :  FEd 3@ 74 FEM 8§ H,C,CH.CH,Br EtONa % ®¥ T&W

HCLCH =CH, el & |
FHYE (1) :  EtONa U Yael dRe =i 9itd 5631 Fial 8, SHieie 91eH 3G &l 2 |

9k TRl & dew H, i feu e fashedi 4 4 3faa 3wt w1 =7 Hif
(1) FEE (1) 3 st (1) 2Hi @8 2 |

(2)  wfimeygs () 3R Al (1) 97 o9 8 |

(3)  fyshes () Wél 2, wifehd sAfishes (10) TTeid 2 |

(1)  fimes (D) Toia 8, T Afse (1D 98 & |

Options :

92090662533. 1
92090662534. 2
92090662535. 3
92090662536. 4

Question Number : 35 Question Id : 92090615829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements regarding role of Calcium in Hoemone action

{(A)  The hormones that bind cell membrane receptor enhance membrane permeability to

Ca'" and thereby increase Ca' " influx.

(B) Ionized Caleium of the eytosol is the important signal for hormone action than CAMP

(C) Na** ,«"'ﬂf* exchange mecehnism has low capacity but high affinity for Ca™
(D) The Calcium dependent regulatory Protein is called Calmodulin.

(E) Calmodulin has 2Ca"" binding sites.

Choose the correct answer from the options given below.

(1) Only (A), (B) and (C) (2) Only (B), (C) and (D)
(3) Only (A). (B) and (D)) (4)  Only (C), (D) and (E)



Options :

92090662537. 1
92090662538. 2
92090662539. 3
92090662540. 4

Question Number : 35 Question Id : 92090615829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A e & foaam 1 st % doy § SR wuEl B vEa-
(A) B AN HISTHI-FHAT AR HT T4 HAT &, 91 HIGHT Hell i Ca™ hl IOTHaT |
9fg FaT & 3 T8RN Ca™ & IAaig i w2 |

(B) TEEEE W AEHEAS Hfeaad, CAMP ®1 9o § #mA i & fou aget
Hehd & |

(C) Ca* & oW Na™[Ca™ Toma vonelt it egan 0 2, e agan safues 2 |
(D) Hicom snfaa Fafa 9EF Feagiaa waam 2|
(E) FTourgled & 2Ca™ 994 T 2 |

+i feu 7o fawmeqi @ & 3faa 3@ =1 =mw e .

(1) = (A), (B) 3 (C) (2) %A= (B), (C) 3R (D)
(3) FaE (A), (B) 3 (D) (4) *aa (C), (D) 3R (E)
Options :

92090662537. 1
92090662538. 2
92090662539. 3
92090662540. 4

Question Number : 36 Question Id : 92090615830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I

List I List II
Shape Cell Component
(A) Cartwheel like (I} Mitochondria
(B) Sausage Shaped Iy  Cilium
(C) lense shaped (IIT} Centriole
(I Oar like (IV) Chloroplast

Choose the the correct answer from the options given below:

(1) (A)-(IIL), (B)-(IV), (C)-(I), (D)-(II)
(2) (A)-(I1D), (B)-(I). (C)-(IV). (D)~(1)
(3) (A)-(IIL), (B)-(1I), (C)-(AV), (D)-(D)
(4) (A)-(II), (B)-(11I), (C)-(IV), (D)-(D)

Options :

92090662541. 1

92090662542. 2

92090662543. 3
92090662544. 4

Question Number : 36 Question Id : 92090615830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 15 w19 g=1 11 &1 fiers it |

a1 T I
FTHfd HIIHI-ed
(A) reeger S (I) =rscrhitogan
(B) HEF & AHE - = (I1) 9&amy
(C) =9 = IHE - &1 (I11) 9= g
(D) =og S (IV) TR /Elaeas

Fie feu U fasedi § 9 wE I 1 994 FifAu

(1) W-dID, (B)-(IV), (C)-@), (D)-(II)
(2)  (A)-(ID), (B)-(D), (C)-(AV), (D)-(1I)
(3)  (A)-ID), (B)-(II), (C)-(IV), (D)-(I)
1)  (A)-ID), (B)-(I1I), (C)-(IV), (D)-(D

Options :

92090662541. 1
92090662542. 2
92090662543. 3
92090662544. 4

Question Number : 37 Question Id : 92090615831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11

List I List I1
Name Formula
(A) Thiosulphuric acid I H:S5,0,
(B) Dithionic acid (II) H.S5,04
(C) Disulphuric acid (III) H.S,0,
(D) Peroxidisulphuric acid (IV) H.S5.0;

Choose the the correct answer from the options given below:

(L (A)-(D), (B)-(I1), (C)-(IV). (D)-(1I)
(2) (A)-(I), (B)-(1), (C)-(IV). (D)-(II)
(3) (A)-(I111), (B)-(D), (C)-(IL), (D)-(IV)
(4) (A)-(I), (B)-(IV). (C)-(I). (D)-(1I)

Options :

92090662545. 1
92090662546. 2
92090662547. 3
92090662548. 4

Question Number : 37 Question Id : 92090615831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl 1% 919 g1 11 1 e it |

1 = 11
A o
(A) drEEEHEE () H,8.,0,
(B) = urgAit 3w (I) H,8,0,
(C) =EEcHE A (IIT) H.S.0,
(D) WFEEEECHE 3T (IV) H,S:0

Fie feu mu fasmedi § & 3fEa I w1 999 Sifu .

(1) (A)-@), (B)-(ILI), (C)-(IV), (D)-(ID)
(2) (A1), B)-D), (C)-AV), (D)-(ID)
3)  (A)-ID), (B)-(D), (C)-(1I), (D)-(IV)
1) (A1), (B)-(IV), (C)-(D). (D)-(ID

Options :

92090662545. 1
92090662546. 2
92090662547. 3
92090662548. 4

Question Number : 38 Question Id : 92090615832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For hydrogen atom, the slection rules for allowed transitions, between energy levels are:

(A) Al=0,A,=+1
B) Al=0,A,=0
(C)  Al=+1,A, =+1

(D) A=11 A =0

Choose the most correct answer from the options given blow:

(1) Only (A) and (D) (2) Only(B)
(3) Only (C) (4) Only (A) and (C)
Options :

92090662549. 1
92090662550. 2
92090662551. 3
92090662552. 4

Question Number : 38 Question Id : 92090615832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U BIEEISH WHTY o Sl Tl Weq kAl A % forg s -fm E-
(A) Al=0,4A,=%1
(B) Al=0.,A_=0
(C) Al=11,A_ =+1

D) Al=+14,=0

H= feu mu famRedt § ¥ 3fam s W 999 Fife

(1) =as (A) 31T (D) (2) a4 (B)
@ = (O) (4) FEA (A) IR (O)
Options :

92090662549. 1
92090662550. 2



92090662551. 3
92090662552. 4

Question Number : 39 Question Id : 92090615833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are some carbocations. The increasing order of statbility will be:

e %

- .'-.‘-
@
(B) e
[
P
© &
{
\ ¢
®
[ h
-'2'.‘-\-\- - LH—H—
(E)

Choose the most correct answer from the options given blow:

(1) (A, (B), (C), (D), (E) (2) (A), (D), (E), (B), (C)
(3)  (B), (C), (D), (E), (A) (4)  (C), (D), (E), (B), (A)

Options :

92090662553. 1
92090662554. 2
92090662555. 3
92090662556. 4

Question Number : 39 Question Id : 92090615833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e F9 e YA fou e § | Sed gU %A § fowa $i o anfi-

@w - U
® - O
T

© 70
i

r ; o -.__1

A -J‘“x
(E)

Fi< few mu fameqt 0 3fa I =1 =57 fifau

(1) (@A), (B), (C), (D), (E) (2) (A), (D), (E), (B), (C)
@ (B), (C), (D), (E), (A) (4) (C), (D), (E), (B), (A)

Options :

92090662553. 1
92090662554. 2
92090662555. 3
92090662556. 4

Question Number : 40 Question Id : 92090615834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements:

Statement I: Nucleous consists of nuclear envelope with pores, nucleoli and Chromosome as

mass of Chromatin in interphase cells.

Statement II: Nuclear pores control the movement of substances between the nucleous and
evtoplasm, nucleoli produce ribosomes and chromosoms consists of genes.

In the light of the above statements, choose the most appropriate answer from the options
given below:

Both Statement I and Statement Il are correct

Both Statement I and Statement Il are incorrect

Statement I is correct but Statement I is incorrect

Statement I is incorrect but Statement II is correct

Options :

92090662557. 1
92090662558. 2
92090662559. 3
92090662560. 4

Question Number : 40 Question Id : 92090615834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i g e feu e g

AWFH (1) :  F5h o hgch- AW J W, FFedic! A HHEN FA0=ed] FHifEeH o
ST & Zea9H & =9 H 8d & |

e (I1) :  Hgs 1Y, $gh IR HIEEHI-5e8 & HEF IS4l & IEFET & Hai=m
Fd &, Fiaadic! 199 & TgaHm 3T HEEE H 39+ Hd # |

ITE ATRSA & Hed d, e feu mu fawed O @ 3faa 39 &1 =57 $ifqu -

(1)  fiERes (1) 3 sAfiry (10) SF1 98 8 |

(2) s (D) 3An stfass (1) g1 7o & |

(3) fisegs () 9dl 2, ot sifises (1) o4 2 |

(4)  FAfREE (1) Toid 8, it st (1D w8t 2 |

Options :

92090662557. 1

92090662558. 2

92090662559. 3
92090662560. 4

Question Number : 41 Question Id : 92090615835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following situations the heavier of the two particles has smaller de Brogle

wavelength? The two particles

(A) move with the same speed.
(B) move with the same linear momemtum.
(C) move with the same Kinetic energy.

(D)  have fallen through the same height.

Choose the most correct answer from the options given blow:

(1) (A) and (B) Only (2) (B) and (C) Only
(3) (B), (C) and (D) Only (4) (A), (C) and (D) Only
Options :

92090662561. 1



92090662562. 2
92090662563. 3
92090662564. 4

Question Number : 41 Question Id : 92090615835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefefaa whifeafot &, < o 8 e a S0 i T Jiel a1 39 TR Bl & ?
iﬂ?lm:

(A) = HE =T ° oid 1 2

(B) dmm wfew 5 | fq 4 8 |

(C) o Tids Sl § 7id =4d 2 |

(D) ¥TEE Hui ¥ = e 5 21

Fie feu wu fawmeqi & 3faa 3 =1 =99 $ifsw .

() == (A) 31 (B) (2) =a= (B) 3 (0)
(3) saa (B), (C) 3 (D) (4) === (A), (C) 3 (D)
Options :

92090662561. 1
92090662562. 2
92090662563. 3
92090662564. 4

Question Number : 42 Question Id : 92090615836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following compounds in the increasing order of statbility of their conjugate hases.

(&)  HCIO
(B)  HCIO,
()  HCIO,
(D)  HCIO,

Choose the most correct answer from the options given blow:

(1) (A), (B), (C), (D) (2) (B), (A), (C), (D)
(3) (A), (C), (D), (B) (4) (D), (A), (C), (B)
Options :

92090662565. 1
92090662566. 2
92090662567. 3
92090662568. 4

Question Number : 42 Question Id : 92090615836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faferiga FifTei # aRF % RS F 9d g #9 § FIifaq shifa-
(A)  HCIO
B) HCcIo,
(C)  HCIO,

M) HCIO,

= feu o fawedi § & sfua 3 %1 =99 e .

1 @), B, (C), D) (2) (B), (A), (C), (D)

@ ), (C), D), (B) 4 (D), (A), (C), (B)



Options :

92090662565. 1
92090662566. 2
92090662567. 3
92090662568. 4

Question Number : 43 Question Id : 92090615837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A residue of 7T-methylguanosic Forms 5’ eap is most eukarvotic mENA

Statement II: 7-Methylguanosine residue is linked to 8" of the mRENA though a 5'-3
triphosphate linkage.

In the light of the above statements, choose the most appropriate answer from the options
given below:

Both Statement I and Statement I are correct

Both Statement I and Statement Il are incorrect

Statement I is correct but Statement 11 is incorrect

Statement I is incorrect but Statement I1 is correct

Options :

92090662569. 1
92090662570. 2
92090662571. 3
92090662572. 4

Question Number : 43 Question Id : 92090615837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ja sy feu o € -

AR (1)

Ay (I1) ;. 7-HY1Se [AFMEA &1 398 5-3° ZEEEHE 99 g0 mRNA & &

1T £ |

e O grafm 2

IR ATHHHl % Hew H, A4 fou 7 fawei § & 3fEa W & 5w Hifew

(1)
2
(3
(4)

i (1) 3 st (I0) <1 a8 2 |
HAfRaT (1) 3R fiys (1) 2H1 o 8 |
i (1) B2 8, S sifoepes (1) e 2 |
FfsRaa (1) TTed &, Sifed steee (1) 98 2 |

Options :

92090662569. 1
92090662570. 2
92090662571. 3
92090662572. 4

Question Number : 44 Question Id : 92090615838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Aftrehat FohitaAfed mRNA # 7-MuEe TAHTE &1 3@



If the fluse of the elctic firld through a closed surface 1s zero:
(A)  the lectric field must be zero everywhere on the surface
(B) the lectric field may be zero everywhere on the surface.

(C)  the charge inside the surface must be zero.

(DY the chage in the viscinity of the surface must be zero.

Choose the most correct answer from the options given blow:

(1) Only (A) and (B) (2) Only (A) and (C)
(3) Only (B) and (C) (4) Only (B) and (D)
Options :

92090662573. 1
92090662574. 2
92090662575. 3
92090662576. 4

Question Number : 44 Question Id : 92090615838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7fG T ¢ I8 & Walea f99d & & FEE 7 8-
(A) 9B % yeds WH 9 fagd &9 9 21 =0E |
(B) U8 % Wi T T fawd &9 Y & Hehar 2
(C) 9B % ITCT TS I §F1 =16 |

(D) 9B F M-I 9 IF &A1 =008 |

Fie feu 0 fasheqi @ 9@ 3faa a@ =1 ==9 Sifau .

(1) == (A) 31 (B) (2) +ad (A) 3R (C)
(3) e (B) 31 (C) (4) a4 (B) 3 (D)

Options :



92090662573. 1
92090662574. 2
92090662575. 3
92090662576. 4

Question Number : 45 Question Id : 92090615839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: At a given temperature, the values of magnetic susceptibility increases with
increasing magnetic field.

Statement II: For a paramagnetic substance, the magnetic susceptibility is inversely
propeortional to its absolute temperature.

In the light of the above statements, choose the most appropriate answer from the options
given below:

Both Statement I and Statement Il are correct

Both Statement I and Statement Il are incorrect

Statement 1 is correct but Statement I is incorrect

Statement 1 is incorrect but Statement 11 is correct

Options :

92090662577. 1
92090662578. 2
92090662579. 3
92090662580. 4

Question Number : 45 Question Id : 92090615839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A=t 21 e g TR

AwFe (1) : T fGU 10 a99W W, g6 F9 F1 9H, Sedl gL IFEhid & & a19

CERd

HAfywed (1) : v wWHHfes 9gd % fou, g@sE wafa, =% g auem &

SFEHFATITA Bl & |

IR ATHHIAI  HeH 4, A4 60 T el § 7 3fEa I & =89 Hiw

(1
2
(3)
(4)

it (D) 3 ARy (11) 241 98 2 |
Hfiere (1) 3 safiepe (1) 2H1 Terd 2 |
ifiry (1) Wl 2, ifeha sfishe (11) 7ofd 2 |
Ffrryd (I) e 8, <l Ffem (1) &8 2 |

Options :

92090662577. 1
92090662578. 2
92090662579. 3
92090662580. 4

Question Number : 46 Question Id : 92090615840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled
as Reason R
Assertion A : Half lives provide a useful way of comparing the rates of reactions of

different orders.

Reason R : Half lives of different reactions have different units.

In the light of the above statements, choose the correct answer from the options given

below
1.Both A and R are true and R 1s the correct explanation of A
2.Both A and R are true but R 1s NOT the correct explanation of A
3.A 1s true but R 1s false
4. A 1s false but R 1s true

Options :

92090662581. 1
92090662582. 2
92090662583. 3



92090662584. 4

Question Number : 46 Question Id : 92090615840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= g1 weA fer mu € : v #fEeR (Assertion A) % ®9 1 fafiga 2 & gEu 35k &
(Reason R) & =9 7 :

e (A) ;Y g fafiw wai it st w s 1 qom =6 w1 us e
GUEAR HEETGR A

®m (R) : fafirm stfufsrnalt 1 sd-amg 6 fafie swmal & 2|

39U HeEl "ol H, 4 fou mu fashedi # & staa swm v Hifsw

(1) (A) 3R (R) A T & 3R (R), (A) i @l =men 2 |

2 (A) 3R (R) S & &, A6 (R), (A) H1 a1 == 78 2 |

(3 (A== g, @ (R) 359 2|

(1) (A) 3715 2, =7 (R) 579 &1

Options :

92090662581. 1
92090662582. 2
92090662583. 3
92090662584. 4

Question Number : 47 Question Id : 92090615841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Deletions and duplications are especially likely to occur during meiosis. In
crossing over hon sister chromatids sometimes exchange unequal sized segments of
DNA.

Statement II : “Cri-du chat” syndrome results from a specific deletion in chromosome S.

In the light of the above statements, choose the correct answer from the options given
helow

Both Statement I and Statement I are true

Both Statement I and Statement I1 are false

Statement I is true but Statement I is false

Statement I is false but Statement II is true

S L B L]



Options :

92090662585. 1
92090662586. 2
92090662587. 3
92090662588. 4

Question Number : 47 Question Id : 92090615841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jaarwua feu o 2 -

Ay (1) . gl fauem & enm, fagma: fadm 3R geme 2@ 8| |99 1,
HH-Tft DNA & 399 3THE & U & {5409 & 2 |

HAferer (1) . swm@Em 55 fafire faeimm § ‘wE-gg =8 e gfonfaa g 2|
3Tk Al & Hed #, F fou o famedi d & sfaa s &1 =57 Hifw

(1) st (1) 3 st (1) 21 & € |

(2) Ftaa (1) 3R fisya (1) 241 Tod 8 |

(3) FhERE (D) @l 8, <ifss sy (1D) Terd 2 |

(4)  hwyE (1) 7o &, TR At (1) 98 2|

Options :

92090662585. 1
92090662586. 2
92090662587. 3
92090662588. 4

Question Number : 48 Question Id : 92090615842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : The electric field calculated by Gauss's law 1s the field due to the charges
inside the Gaussian surface.

Statement Il : The flux of the electric field through a closed surface due to all the charges
15 equal to the flux due to the charges enclosed by the surface.

In the light of the above statements, choose the correct answer from the options given
below

Both Statement I and Statement II are true

Both Statement I and Statement IT are false

Statement I is true but Statement I is false

Statement I is false but Statement I1 is true

o o 1o o

Options :

92090662589. 1
92090662590. 2
92090662591. 3
92090662592. 4

Question Number : 48 Question Id : 92090615842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A @ wo feg Mo E

AR () ;34 Fem g e foea &7, 9% &9 8 |1 TS I8 % 36t e %
AV BATE |

sfwwed (ID) : v 9g 98 § |+t A= & SR fagd &7 1 voeg, T8 g0 uiEs e
% B FAH o SUE &A1 £ |

STE AHHIAT = HeH H, 14 fu v fawhedi § 9 =@ I &1 =957 Hifw -

(1) sfeu (1) 3R st (D) 241 58 € |

(2) =rfasReR (1) 3R sifisrem (1) g1 Tod 2 |

(3)  FRa (1) B 8, wifeh sk (11) Tofe 2 |

(1) P (1) 7o #, i A (1) 98 2 |

Options :

92090662589. 1

92090662590. 2
92090662591. 3



92090662592. 4

Question Number : 49 Question Id : 92090615843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : Innate immunity includes the external physical and chemical barners provided
by the skin and mucous membranes only.

Statement [I : When pathogens penetrate the physical and barriers of skin and mucous
membrane they encounter second line of defense like phagocytes, natural killer cells,
inflammation and fever.

In the hight of the above statements, choose the correct answer from the options given below
. Both Statement [ and Statement 11 are true
2. Both Statement I and Statement 11 are false
3. Statement I 15 true but Statement [1 15 false
4. Statement [ 1s false but Statement 11 15 true

Options :

92090662593. 1
92090662594. 2
92090662595. 3
92090662596. 4

Question Number : 49 Question Id : 92090615843 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Ftqere (1) : =1 3R oie fooefl g0 Yed @ 9ifas 3t taEies Tusar g8
wieargehar § AT 2 |

Hivepgd (1) : <19 TY] o=l A Toisael (ool & Wifde 3 U@ duei $1 Hed 3,
a9 9 g 1 fgda t@ A8 - WEH], Wihiae A Hie, MY I
T@N H AT A 2 |

IRRE AHHAA| & HeH H, A1 fqw M fashed] # & 3@ W F =54 HiW
(1) st (1) AR st (1) 1 &8 € |

(2) YA (1) 3R feE (1) g9 o & |

(3)  fyshers () Wél 2, wifehd sAfishers (I0) TTefd 2 |

(4) s () Tera 2, S aafiveres (1) &8 2 |

Options :

92090662593. 1
92090662594. 2
92090662595. 3
92090662596. 4

Question Number : 50 Question Id : 92090615844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement [ : Magnetic induction of fernites 1s much less than that of ferromagnetics.

Statement Il : Ferrites have a higher permeability and lower hysteresis loss as compared to
ferromagnetics.

In the light of the above statements, choose the correct answer from the options given below
1. Both Statement [ and Statement 1I are true
2. Both Statement I and Statement 11 are false
3. Statement [ 1s true but Statement [1 15 false
4, Statement [ 1s false but Statement 11 15 true

Options :

92090662597. 1
92090662598. 2
92090662599. 3



92090662600. 4

Question Number : 50 Question Id : 92090615844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= 21 % fou o E -
Al (1) :  BUSE %1 grhig UoH, Higaieh (SE-geiehl) U Hbl 5 g 2 |

Afgere (I1) : IS 1 FEaEihe] i 3941 I=aqy EHIfieal 31 JHq9 e g™
g1 8

9 ATyl & Hed d, i fou mu fawent @ @ 3faa s =1 977 Hifew
(1)  #fheeE (D) 3 e (1D §H1 w8 & |
(2) Ftawya (1) 3R ey (1) 541 Tod ¢ |

(3) Aty (D) 581 8, ot sty (ID a2 |
(4)  FAfReE (D) o &, e Aty (1D 98 2 |

Options :

92090662597 1
92090662598. 2
92090662599. 3
92090662600. 4

Question Number : 51 Question Id : 92090615845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A : Ice skaters can move smoothly on ice because a thin layer of hquid water 1s
formed below the skates.
Reason R : The melting point of ice increases with increase in pressure.
In the hight of the above statements, choose the correct answer from the options given below

Both A and R are true and R 1s the correct explanation of A
Both A and R are true but R 1s NOT the correct explanation of A
A 1s true but R 1s false

A 1s false but R 1s true

i e



Options :

92090662601. 1
92090662602. 2
92090662603. 3
92090662604. 4

Question Number : 51 Question Id : 92090615845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H= € ®uA feg U € : wF ANERYA (Assertion A) % ®9 § foifigd g a1 g0 30 S0

(Reason R) % =9 4 :

AF (A) 1 TZH TheH a6 W HAEH H Tc1 Tohd & Fi1h Shed o e alel el i
T el 9 il 2 |

Frm (R) a6 I TS Fed §U e &A1Y Fedl £ |

39 HUA % Hed d, Fi fou v fomedi & & 3faa I %1 93w Hifsw

(1) (A) 3 (R) < & B 3 (R), (A) i @l =re 2 |

(2)  (A) 3 (R) T & &, W (R), (A) i 6 ==me 78 R |

(3) (A)¥= 2, o (R) 31594 & |

(4)  (A) 3@ g, @ik (R) 5 2|

Options :

92090662601. 1
92090662602. 2
92090662603. 3
92090662604. 4

Question Number : 52 Question Id : 92090615846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A long current carrying wire 1s held vertically. Two points in the honizontal plane can be
found where :

A. The magnetic fields are equal

B. The directions of the magnetic fields are the same.

C. The magnitudes of the magnetic fields are equal

D. The magnetic field at one point is opposite to that of the other.

Choose the correct answer from the options given below:
1. A BandC only

2. B,Cand D only

3. A.CandD only

4. Band C only

Options :

92090662605. 1
92090662606. 2
92090662607. 3
92090662608. 4

Question Number : 52 Question Id : 92090615846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UF T YT YaTEd ai i oiEad W@ i & | e 9 W g feg 98 9w o |56 € 98
&, 9§l -

(A) Teehg & SO A E |

(B) r=ehig &l 1 fgan g 2t 2 |

(C) T &= %I 9 U 2l 2 |

(D) s forg W Frachia &, g forg R graehia &t o farwdia &iar 2|

Jie feu v fameqi 4 @ 3faa s %1 994 Sifaw .

(1) s (A), (B) 31 (C) (2) #ad (B), (C) #R (D)
(3) = (A), (C) 3 (D) (4) = (B) 31 (C)
Options :

92090662605. 1
92090662606. 2
92090662607. 3



92090662608. 4

Question Number : 53 Question Id : 92090615847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A : Phosphorus (v) oxide, P4O;¢ 1s one of the most effective dehydrating agent.

Reason R : The heat of formation of P4O1¢ 1s very high.

In the light of the above statements, choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. Astrue but R 1s false

4. A 1s false but R 15 true
Options :
92090662609. 1
92090662610. 2
92090662611. 3
92090662612. 4

Question Number : 53 Question Id : 92090615847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jr= g1 weA for mu € : vk AfERe (Assertion A) % ®9 1 fafiga 2 o gEu 35k Fnw
(Reason R) F &9 7 :

AFHE (A) :  HERAA (V) ATFEEe, POy 98 31fus wuret FHeicfens 5 9 v 2|
% (R) : P41l 30916 F97 5gd ATUh == &Il & |

TG HYF & g H°, = Kv  fawedt A ® sfuw I = 999 Fifew

(1) (A 3R R) ZH & & 3 (R), (A) 1 HEl =ame 2 |

@ (A) 3R (R) SHI &4 €, e (R), (A) i @l =aren T8 8 |

(3  (A)FF 2, oifehT (R) 3 ¢ |

(4)  (A) 3= 2, i (R) &4 2

Options :
92090662609. 1
92090662610. 2



92090662611. 3
92090662612. 4

Question Number : 54 Question Id : 92090615848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Low temperature destroys enzymes by causing their denatunation.
Statement II : High temperature preserves the enzymes in their inactive stage.

In the light of the above statements, choose the correct answer from the options given below
. Both Statement I and Statement 11 are true
2. Both Statement I and Statement 11 are false
3. Statement I 15 true but Statement 11 1s false
4. Statement I 15 false but Statement 11 1s true

Options :

92090662613. 1
92090662614. 2
92090662615. 3
92090662616. 4

Question Number : 54 Question Id : 92090615848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 27 e fgu e 2

AGHA (1) : & AHE TAT3H F1 B H0 L, TTh] 78 &l 2 |
Ffsered (1) :  I=9 A9HM T-SIEH 1 S9eh] Hshid &Y H HU&T od & |
ik ARl % Hed |, i fou mu fasedi 4 4 3fad 3w w1 =7 Hifew
(1) s (1) 3R sfiee (I0) 2T @ & |

(2) wfimes (1) 3R sty (1D 91 799 & |

(@)  wfea () wd 2, < sifeme (1) e 2 |

() st (I) e @, <l iy (1D & 2 |

Options :
92090662613. 1



92090662614. 2
92090662615. 3
92090662616. 4

Question Number : 55 Question Id : 92090615849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A thermodynamic system is taken through the cycle abeda.

0

The change in the internal energy is zero.

The system rejects heat during the cycle.

The system absorbs heat during the cycle.

The total work done by the system during the cycle is zero.

=R

Choose the correct answer from the options given below:

A and B only
A, B and D only
B and D only
A, C and D only

ol b

Options :

92090662617. 1
92090662618. 2
92090662619. 3
92090662620. 4

Question Number : 55 Question Id : 92090615849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U FHHPITOS 49547 1 9% abeda @ & S04 A6@T £ |

I —% \/

(A) Al Sl § aREdd 3= BA E |
(B) =% % SN SIEAT ST &l TERREAT 2
(C) <5k = SR SHS=IT ST I FINIHT Bl 2l

(D) =%k & SHH &1 g b T o™ I3 2T & |

Hi= few v fasheqi § € 3faa 39 w1 == Sifaw
(1) =4ad (A) 3 (B) (2) ad (A), (B) 3 (D)
(3) e (B) 37 (D) (4) =aa (A), (C) 3T (D)

Options :

92090662617. 1
92090662618. 2
92090662619. 3
92090662620. 4

Question Number : 56 Question Id : 92090615850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A : Aquatic animals are more comfortable in cold water rather than warm water.

Reason R : Solubility of gases increases with decrease in temperature.

In the light of the above statements, choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Aistrue but R 15 false
4. As false but R 1s true

Options :



92090662621. 1
92090662622 2
92090662623. 3
92090662624. 4

Question Number : 56 Question Id : 92090615850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9= €1 %ud few v E : v YR (Assertion A) % ®9 § fofigd 2 o gE0 396 S0
(Reason R)%Eﬂfﬁ :

AMH (A) :  Telld T T T I 9&T 32 9 ° AfGF FgA 7 2 |
FI0 (R) 19 6 ge-Eiiedl 92d a99H % T & 919 9edl & |
I HIH & Hed 1, I feu v fawewt 4 § faq s w1 977 Fifew
(1) (A) 3R (R) gHi & & 3 (R), (A) it 7 = 7|

(2 (A) 3R (R)2F 7 £, &b (R), (A) i w81 = T8 2 |

(3)  (A)E B, ©ifeh (R) 35 2 |

(4)  (A) 35T 2, AfRT (R) 79 2|

Options :

92090662621. 1
92090662622 2
92090662623. 3
92090662624. 4

Question Number : 57 Question Id : 92090615851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct sequence of action potentials propagated through conduction system 1in human
heart are :

Both right and left bundle branches.

A V node

S A node

Bundle of His

Purkinje fibers

monow»

Choose the correct statements from the options given below are :

C -D—-B—A—E
C—B—D—A—E
B—(C—=D—A—E
C—A—D—B—E
Options :
92090662625. 1
92090662626. 2
92090662627. 3
92090662628. 4

gt o el it

Question Number : 57 Question Id : 92090615851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T4 &gd H 9T 99 g el fava vEnfed € o 98 w9 § -

(A) =fEu 3 99 95 79

(B) AVHE

(C) SA-rE

(D) His %1 998
(E) s T

= feu o faweqt # & 3faa s =1 597 Fifsw .

() C-D—-B-A—-E 2) C=B-D—-A->E
3) B-C—=D—-A—>E (1) C—=A—-D—-=B—=E
Options :

92090662625. 1
92090662626. 2
92090662627 3



92090662628. 4

Question Number : 58 Question Id : 92090615852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 1s labelled as
Reason R
Assertion A : In a semiconductor, electrons are assumed to be located at the top edge of the
conduction band and the holes at the bottom edge of the valence band.
Reason R : The Fermi-Dirae distribution function f{E) rapidly approaches zero with
increasing energy E.

In the light of the above statements, choose the correct answer from the options given below
I. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Aistrue but R is false
4. A s false but R 1s true

Options :

92090662629. 1
92090662630. 2
92090662631. 3
92090662632. 4

Question Number : 58 Question Id : 92090615852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g1 %A feu o E : wh AfEYR (Assertion A) % w9 ¥ fafaa 2 o gau 3% Fww
(Reason R) F =9 7 :

AFEH (A) . TFH HAgaeH §, Ig gF F61 2 5 seidga 9 92 & fee e wm
@ € & 3R fog (8/) TaeA 95 & 394 foha W Ed & |

F (R) wHi s fam $oF [ (E) Fedi g8 S91 E & ™9 gaal § 3= & AR
el & |

SR HUA % H5ed H°, i feu v fammedi # & sfaa sm w1 ==m Fifew

(1) (A) 3R (R) EHi a0 & 3R (R), (A) 1 el =amean 2 |

(2)  (A) 3 (R) gFT &9 €, A (R), (A) i @t =are 78 2 |

(3) (A) & B, ©ifehd (R) 3794 & |

(4)  (A) zme B, o (R) 569 2



Options :

92090662629. 1
92090662630. 2
92090662631. 3
92090662632. 4

Question Number : 59 Question Id : 92090615853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the events of infection of Microles in human body :

A. From lymphatic capillanes to large lymph vessels connected to arculatory system.

B. Reaching terminal lymphatic capillarles by action of coagulase, collagenase, elastase,
porim etc.

. Attachment and colonization by the pathogens.

. Entry into host by dissolving host tissue by lytic substance.

Discharge of pathogens in circulatory system and to the entire body.

mg o

Choose the correct statements from the options given below are :

1. C—=B—D—A—E
2. C—=D—B—A—-E
3. D—»C—A—B—E
4. C—A—D—B—E

Options :

92090662633. 1
92090662634. 2
92090662635. 3
92090662636. 4

Question Number : 59 Question Id : 92090615853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A IR & Sfal 8 HA w1 G131 i AT i

(A) IR Sivn | < @i anfge, St afE=wor 9 | i 2 |
(B) anfe it foren & 3ifom wfen SRt 9% qg=1

(C) T3 g J2E 9 HHe9H |

(D) Tt 39k I oAl 961 gRT 918 T H WANT T W& 9= |
(D) Eel YRR R giE=Ror @ T &1 @ S|

Fi= few v fasmeut § © 3T 3 w1 991 Fifau

() C—=B—=D—-A—=>E 2) C=D—-=B—-A—=E
(3) D-C—-A—-B—-E (4) C=A—-=D—-B—=E
Options :

92090662633. 1
92090662634. 2
92090662635. 3
92090662636. 4

Question Number : 60 Question Id : 92090615854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as
Reason R

Assertion A : For a particle to tunnel through a potential barner without any reflection
(perfect transmission), the transmission co-efficient should be unity.

Reason R : Transmission through a potential barmier will be perfect if the width of the barmer
15 equal to an integral or half integral multiple of the de-Broglie wavelength associated
with the particle.

In the light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Aistrue but R 1s false
4. As false but R 1s true

Options :

92090662637. 1

92090662638. 2

92090662639. 3

92090662640. 4



Question Number : 60 Question Id : 92090615854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9= g1 %uA feg MU E : U YA (Assertion A) % ®9 § foifigd 8 O gEU 3°F RO
(Reason R) F &9 7 :

A (A) : Tt &0 & foiu o o v geTE B =TtEY, 99 3 fava g g
farr Tepeft qoradsy (qut w=or) & e foman smar 2 |

w0 (R) : forga st g = qut 2em 3 s i <, FwEfa w0 S 2 st
Tne % qUITshiT YA FETHE o S Al 2|

I FH o ggd H, i feu v famweni 4 9 I s #1997 Fifew

(1) (A) 3t (R) EHi @ € 30 (R), (A) Fi 5El =ame & |

(2)  (A) 3R (R) gHI @4 €, il (R), (A) =i wt =re 78 2 |

(3) (A g &, wifed (R) 9F & |

(4)  (A) 335 &, i (R) 54 2|

Options :

92090662637. 1
92090662638. 2
92090662639. 3
92090662640. 4

Question Number : 61 Question Id : 92090615855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For reaction

NH,(g )+ HCl(g ) - NH Cl5)
A°H, =-176.2k.J and A°Sr =-0.285kJk

The reaction will be :
1. Spontaneous at all temperatures.
2. Non-spontaneous above 618 K
3. Non-spontaneous below 618K
4. Always non-spontaneous

Options :
92090662641. 1
92090662642. 2



92090662643. 3
92090662644. 4

Question Number : 61 Question Id : 92090615855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NH (g )+ HCl(g ) — NH Clys) 0l W aH, =-176.2kd 3 A°Sr = —0.285kJk " & |
sty gnfi-

(1) = s W "985 (2) 618 K § W JHeEd

(3) 618 K @ f= smss (4) dca IEd

Options :

92090662641. 1
92090662642. 2
92090662643. 3
92090662644. 4

Question Number : 62 Question Id : 92090615856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other 1s labelled as
Reason R
Assertion A : Vesicles containing neurotransmitter molecules migrate to the tip of axons
that release these molecules as chemical signal to adjacent nerve cell.
Reason R : Inside the cell, vesicles and other onganelles often use motor protein (*feet’ to
‘walk’) to their destination along a track provided by cyto skelecton.
In the hight of the above statements, choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. Aistrue but R 1s false
4. As false but R 1s true

Options :

92090662645. 1
92090662646. 2
92090662647. 3
92090662648. 4

Question Number : 62 Question Id : 92090615856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4= g1 %uA feu MU E : U AEYA (Assertion A) % ®9 § fafigd g a1 gE0 30F FHAO
(Reason R) % =9 9 :

shwwed (A):  dfesm fom 3 e s o1 € § b % eed fat A it e
FHdl 8, AN AU Frefl A1 HIH Hl S [ FH TEEHE Ghd i
Wit Hiem il 2 |

HI0 (R) : Hifwe & offqt gfemr 3T 3= T 99 OE TREE (F9d & A
W) 39 TEg T HIEehoied NI Ugd 99 ] FEITA Hd & |

IR HYA & wed °, T feu mu fawedi | & sfaa I @ == it

(1) (A) 3T (R) EF1 & & 3 (R), (A) i HEl ==rE 2 |

(2)  (A) 3 (R) GHT & &, ©fh (R), (A) 1 =t =me = 2 |

(3)  (A) = 2, wfe (R) 378 2 |

(4) (A 353 &, ©fe (R) 99 81

Options :

92090662645. 1
92090662646. 2
92090662647. 3
92090662648. 4

Question Number : 63 Question Id : 92090615857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an irreversible process entropy of the surroundings :

Always increases
Always decreases
Sometimes ncreases sometimes decreases
Remains constant

i

Options :

92090662649. 1
92090662650. 2
92090662651. 3
92090662652. 4

Question Number : 63 Question Id : 92090615857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

UF ARV Sfskan § AE-uE 6 T -

(1) =Hw =edl 8 (2) w9 HeA B |
(3) i wdl AT 4t ged 2 | (1) Ter w2

Options :

92090662649. 1
92090662650. 2
92090662651. 3
92090662652. 4

Question Number : 64 Question Id : 92090615858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a person with type A blood receives a transfusion of type B blood, then

I. First antibody-A of recepient’s plasma does not bind with antigen B on donor’s
erythrocyte and agglutination does not occur.

2. First antibody A inrecipient’s plasma binds to the A antigen on the donors erythrocyte
and cause agglutination.

3. First anti-B antibodies inrecipient’s plasma can bind to the B antigen on the donor’s
erythrocytes causing agglutination and hemolysis of RBC’s.

4. There i1s no antibody antigen reaction and there 1s no transfusion problem.

Options :
92090662653. 1
92090662654. 2

92090662655. 3
92090662656. 4

Question Number : 64 Question Id : 92090615858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¢ ush =afaa Taae st 9r A 8, 1% 91 B &1 309 &1 &, dai-

(1) Sl & A1 $ T9H Wfefi-A, 9% = wWidEEe W Saed B % |9y T8
FE1 & I WeIEHIA (90T 1 I5[) T8 2 g |

(2) THSI @ AHI I TG WiHE-A, &0 % THAEEe W e B % 919 9241 &
3 WTegEHYH BT 2 |

(3) WHSTl % I=ET § 999 - B gfdeEf, gad % TigEse W gfded B & 1Y 13
Tl 2, TeIEHIA 3 RBC &1 ®9iead #4 # |

(4) =8l =I5 wioweht wfosm wafatwar 38 2 2 3 =2 snam auen =8 2 2

Options :

92090662653. 1
92090662654. 2
92090662655. 3
92090662656. 4

Question Number : 65 Question Id : 92090615859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The atomic radius for foc lattice 1s ;
("a” 15 the lattice constant)

.\:.

a
2. =
2

a

J3
4

L

—

Options :

92090662657. 1
92090662658. 2
92090662659. 3
92090662660. 4

Question Number : 65 Question Id : 92090615859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fee e i wwET] B & (‘a7 Tos R )

(1) £u (2)

=
‘“'ﬁ?l b2

@ B, 4y 2y

Options :

92090662657.
92090662658.
92090662659.
92090662660.

AW N

Question Number : 66 Question Id : 92090615860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change in gibb’s free energy depands on:

(1) Only on change in temperature

(2) Only on change in transfer of heat

(3) Only on the thermodynamic State

(4) Only on the change in volume
Options :

92090662661. 1
92090662662. 2
92090662663. 3
92090662664. 4

Question Number : 66 Question Id : 92090615860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fies om0 a1 § agaE i =t 8-
(1) had T9HH § FEaE W (2) <Hael FEHT BT & Fged W
(3)  Hae FSATIaS fRafd @ (4) Had FET H g T



Options :

92090662661. 1
92090662662. 2
92090662663. 3
92090662664. 4

Question Number : 67 Question Id : 92090615861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Debye temperature of a solid 1s 3000 K. The lathice specifie heat of the sohd at 300k 1s:

(1) 0.46 J/mole K

(2 1.94 I/'mole K

(3) 2.34 I'mole K

(4) 5.97 J/mole K

Options :

92090662665. 1
92090662666. 2
92090662667. 3
92090662668. 4

Question Number : 67 Question Id : 92090615861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 31 I SE1E 9EH 3000 k B 1 38 3@ 1 300k W oreh fafire s 2-

(1) 0.46 J/mole k (2) 1.94 J/mole k
(3)  2.34 J/mole k (4) 5.97 J/mole k
Options :

92090662665. 1
92090662666. 2
92090662667. 3
92090662668. 4



Question Number : 68 Question Id : 92090615862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ferrites arre:

(1) Ferrinagnetie having large electrical couductivity.

(2) Diamagnete having large electrical coundctvity.

(3) Ferrpmagnetie having neghmble electrical coundetivity.

(4) Fernmagnetie having neghgible electrical counductivity.
Options :

92090662669. 1
92090662670. 2
92090662671. 3
92090662672. 4

Question Number : 68 Question Id : 92090615862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥rge B

(1) 0 e, foeht fagm gumemsa sifus g 2
(2) erEgmEe, Tt frm gammar sty adt 21
(3)  Urgreh, el forgga gemershar vz Bt 2
(4) & g, foeht fagm gaesar 7o gt 2
Options :

92090662669. 1

92090662670. 2

92090662671. 3
92090662672. 4

Question Number : 69 Question Id : 92090615863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The hormone secreting cells of pancreatic 1slets are responsible for secretion of somatostatin are:

(1 Alpha cells

(2) Beta cells

(3) Delta cells

(4) F cells

Options :

92090662673. 1
92090662674. 2
92090662675. 3
92090662676. 4

Question Number : 69 Question Id : 92090615863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT HATSEIC sl BT SATA0 IR S HIHERL(ET o e @ fou SuerE gt 8-

(1) TEH HIfTERTT (2) e il
(3) oo HifERT (4) F =pifsrnnd
Options :

92090662673. 1
92090662674. 2
92090662675. 3
92090662676. 4

Question Number : 70 Question Id : 92090615864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Compound ‘p’ based upon following observations 1s
P (03 \H 00, 'Q'

Molecular Formula Effervercence with NaHCO,
CgHO molecular formula C;H 0,

orange ppt with 2, 4 DNP Does not reduce tollen’s reagent.

vl
e : - '\.:';H-, .“I
1) @
s O y P
- ff o Hay w cHO
N &“‘ :
CH 7
(3) % (4) :

Options :

92090662677. 1
92090662678. 2
92090662679. 3
92090662680. 4

Question Number : 70 Question Id : 92090615864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafan e © 9ife © snaria 2-

\pr__O1H L0, Q'
e NaHCO, % A1 SgagH1
CH O Ao T C.H 0,
2,4 DNP & &19

AT FFEY, Teid Al T AT=TT T8 HT 8

NN~ CHO -~ I,
i G T
&) )
F "'-\ - -1-:' e # i .
B . 2 e O H
(~ 5 CH, e
P e W S
3) ’ @ -
Options :

92090662677. 1
92090662678. 2
92090662679. 3
92090662680. 4

Question Number : 71 Question Id : 92090615865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The amphoten’c substance given 1s:
(1) S50, (2) NaOH

3 CO, (4) AI(OH ),

Options :

92090662681. 1
92090662682. 2
92090662683. 3
92090662684. 4

Question Number : 71 Question Id : 92090615865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
fean mman vy gere 2-
) 80 (2) NaOH
(3) o, (4) alloH),

Options :

92090662681.
92090662682.
92090662683.
92090662684.

AW N~

Question Number : 72 Question Id : 92090615866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ferrui level 15 defined as:

(1) the lowest filled level at 0 k (2) the lowest filled level at 300 k
(3) the highest filled level at 0 k (4)  the highest filled level at 300 k
Options :

92090662685. 1
92090662686. 2
92090662687. 3
92090662688. 4

Question Number : 72 Question Id : 92090615866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHT T I gieariyg fFEr S 8-

(1) 0k W =Aag Iha @i & (2) 300 k W =99 gia T H
(3 0k W I=aH Iia = A (4) 300 k W I=a0H i &0 H
Options :

92090662685. 1
92090662686. 2
92090662687. 3
92090662688. 4



Question Number : 73 Question Id : 92090615867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The quautun of elastic vibration is:

(1) Photo (2y Graviton
(3) phonou (4) meson
Options :

92090662689. 1
92090662690. 2
92090662691. 3
92090662692. 4

Question Number : 73 Question Id : 92090615867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YeAER T 1 FHE12H 8-

(1) wrEH (2) Hfaem
(3)  EAH (4) HEH
Options :

92090662689. 1
92090662690. 2
92090662691. 3
92090662692. 4

Question Number : 74 Question Id : 92090615868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a cople has two girls and one boy, then tha chances of their next child to be a girl’s:
(1) 2b% (2) 50%
(3) 5% (4) 100%

Options :

92090662693. 1
92090662694. 2
92090662695. 3
92090662696. 4



Question Number : 74 Question Id : 92090615868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF T F 2 TSR] 3N UF FASH B, TH! 37 Hatd vk wA=H 2 FH grE 2-

(1) 25% (2) 50%
(3 75% (4) 100%
Options :

92090662693. 1
92090662694. 2
92090662695. 3
92090662696. 4

Question Number : 75 Question Id : 92090615869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metal bullet hits a target with a velocity of 80m/s and comes to rest. 50% of the heat generated
remains in the bullet. The increase in the temperature of the bullet 1s: (Specific heat of bullet = 160

Jﬂigfﬂ}
(1) 14°C (2) 12.5°C
(3) 10°C (4) 8.2°C

Options :

92090662697. 1
92090662698. 2
92090662699. 3
92090662700. 4

Question Number : 75 Question Id : 92090615869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF 9T =i goie TRl @em H1 80 m/s = 97 § THRUAT 8 I formreeen § 31 9wt 2 |
IeTied 1 W1 50% qete H 8 Tl & | §oie o al9ae § gig 8 (Ferdl i fafre e =
160 J/kglc)

(1) 14°C (2) 12.5°C

(3 10°C (4) 8.2°C

Options :
92090662697. 1



92090662698. 2
92090662699. 3
92090662700. 4

Question Number : 76 Question Id : 92090615870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a thermodyuamic process, the volume of one mole of an 1deal gas is varied according to

V =aT ' where a is constant. The temperature of the gas increases by AT The amount of heat
received by the gas 1s

(R = gas constant, v = adiabatic)

© o RI
-
RAT 2-v
3) 4) RAT
{ 2=y ) [I—]]
Options :

92090662701. 1
92090662702. 2
92090662703. 3
92090662704. 4

Question Number : 76 Question Id : 92090615870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopelt FmTfass WfshaT H, Us Hiel 3116Y 119 &1 3@ V =oT ' & AIER WErdd gl 8;
a UF TR 2| 38 ufsean 3 19 =1 a99E AT 9% 9ed1 2 | 19 200 9TH S99 &1 9F &:

(R =79 feq0e v = &I =1a)

(1)  RaT (2)

RAT (2—v)
2—v \v—-1]}

(3)

Options :

92090662701.
92090662702.
92090662703.
92090662704.

AW N =



Question Number : 77 Question Id : 92090615871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11

List I List 11
Formula Acidic naturre
(A) H,PO, (I) Trbasic acid
(B) H,PO, (Ily Tetrabasic acid
(C) H POy (III) Dibasic acid
D) H,PO, (IV) Monobasic acid

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(I11). (C)-(1D), (D)~(T)
(2) (A)-(D), (B)-(I1), (C)-(I1T), (D)-(IV)
(3) (A)-(IV), (B)-(I1D), (C)-(1D), (D)-(I)
(4) (A)-(I1L), (B)-(IV). (C)-(ID), (D)-(D)

Options :

92090662705. 1
92090662706. 2
92090662707. 3
92090662708. 4

Question Number : 77 Question Id : 92090615871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% 519 gt 11 %1 fiers Sifa |

T 1 T 11
el e T
(A) H,PO, () TaeehT 3m
(B) H.PO, (IT) =demehi 3
(C) H,PO, (I11) fgeamahi ama
(D) H,PO, (IV) TaRe! 35

+i= feu v famedt 9 @ 3faa s %1 599 Sifsw

(1)  (A)-@V), (B)-(IID), (C)-(ID), (D)-(T)
2 A)-), (B)-AD, (C)-(I1I), (D)-(IV)
3)  (A)-(IV), (B)-(IIT), (C)-(I), (D)~(IL)
4)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(D)

Options :

92090662705. 1
92090662706. 2
92090662707. 3
92090662708. 4

Question Number : 78 Question Id : 92090615872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The compound showing mtramolecular

(1) Acetic acid (2)  O-Nitropheno
(3) 4-Hydroxybenzaldehyde {4y Benzene
Options :

92090662709. 1
92090662710. 2
92090662711. 3
92090662712. 4

Question Number : 78 Question Id : 92090615872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hifieh 91 I 3Nfvaeh 3E-Y g9 8-

(1) ufafes s (2)  O-TEiipATe
(3) A-EESiFEiEAUA EEES (4) S
Options :

92090662709. 1
92090662710. 2
92090662711. 3
92090662712. 4

Question Number : 79 Question Id : 92090615873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equilibrium constant for the reaction 280,(g)+0,(g) = 280,(g) is given as K; and for
S0, +=0,(g)=50; itis K,

K, is reakated to K. as:

() K=Ky ) K=K,
@ Ei=E @ K=K,
Options :

92090662713. 1
92090662714. 2
92090662715. 3
92090662716. 4

Question Number : 79 Question Id : 92090615873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR 280,(2)+0.(e7=  250,(g) % 7w Agem e K, feam 7 & 3R
S(Jg+%l’}2[g}.\ﬁ 80, % T 98 K, B |

K,, K, § 39 YR gr-4d 8-

(1) K,=K,t 2 K,=,JK,
K.

a

@ K= (1) K,=K,

Options :

92090662713. 1
92090662714. 2
92090662715. 3
92090662716. 4

Question Number : 80 Question Id : 92090615874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a mother 1s having ‘0’ blood group and father is having ‘AB’ blood group, then the maximum
number of different types of groups that can occur in their pregency 1s:

(1) 1 (2) 2
(3) 3 (4) 4

Options :

92090662717. 1
92090662718. 2
92090662719. 3
92090662720. 4

Question Number : 80 Question Id : 92090615874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ife o7 =1 =R 58 0’ 8 3R a1 %1 +ftw g ‘AB’ 2 a1 39 Hafd § Afushag s
TE =hi T &1 Gl 8-

(1) 1 (2) 2
3 3 (4) 4
Options :

92090662717. 1



92090662718. 2
92090662719. 3
92090662720. 4

Question Number : 81 Question Id : 92090615875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number at possible gamets of an indivisual AABbCCDA 1s:

(1) 2 (2) 4
3 6 7
Options :

92090662721. 1
92090662722. 2
92090662723. 3
92090662724. 4

Question Number : 81 Question Id : 92090615875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s =it AABbCCDd & weifem el i T 2-

(1) 2 (2) 4
3) 6 (4) 8
Options :

92090662721. 1
92090662722. 2
92090662723. 3
92090662724. 4

Question Number : 82 Question Id : 92090615876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A uniform magnetic field B pointing upwords fills the circular region as shown in figure. If B
increases with time, the induced electric field will be directed:

(1) Clockwise along the circular region (2) anti-clockwise along the circular region.
(3) upwards parallel to B (4) downwards antiparallel to B
Options :

92090662725. 1
92090662726. 2
92090662727. 3
92090662728. 4

Question Number : 82 Question Id : 92090615876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHHNE A &9 B S 5 ufegE 2, e g9 & (e § omitea guim e g)
AT R |

af¢ pa9a % WY dgd 8, 9 Ifa faga &= i fgen arf

(1) o &3 % gftgsad (2) I & % FmEd
(3) B % AWFR 4EE (4) B &% FAEH-R AYTE!
Options :

92090662725. 1
92090662726. 2
92090662727. 3
92090662728. 4

Question Number : 83 Question Id : 92090615877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct IUPAC name of given compound 1s:

0 O
Il Il

H{L-CH=CH-C-CH,-C-0-CH,
(1) Methyl - 4 - oxohex - 2 - enoate (2) Methyl - 3 - oxohexanoate

(3) Methyl - 3 - oxohex - 2 - enoate (4) Methyle - 4 - oxohexanoate

Options :

92090662729. 1
92090662730. 2
92090662731. 3
92090662732. 4

Question Number : 83 Question Id : 92090615877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

few mu Aifires =1 3fEa ITUPAC 99 8-
0 0

Il I
HO-CH=CH-C-CH,-C -0-CH,

(1) TS - 4 - AT - 2 - WO (2) HAEA - 3 - A RAGACE
(3) TYEA -3 - AlGEEH -2 - WU (4) AUEA - 4 - FAlFEEeEmTE
Options :
92090662729. 1
92090662730. 2

92090662731. 3
92090662732. 4

Question Number : 84 Question Id : 92090615878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mncorrect statement about resonance/resonating structures 1s:

(1) These are hypothetical structures.

(2) These should have almost similar energies.

(3) Energy of resonance hybrid 1s lower than any of the resonating strutures.

(4) These have different number of unpaired electrons.



Options :

92090662733. 1
92090662734. 2
92090662735. 3
92090662736. 4

Question Number : 84 Question Id : 92090615878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT / FE T % Hed ° i Fo B-

(1) 8 U diehicqd qLa12 |

(2) T SOEE: HUH SHel g =9ien

(3)  3TaTE TR I Sl FRET i FAE GTEAT 6 e HH B 2
(4) ik Mfa= S@nai % 3gfEd soiag 8 21

Options :

92090662733. 1

92090662734. 2

92090662735. 3
92090662736. 4

Question Number : 85 Question Id : 92090615879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The statement true about Okazaki Fragments 1s:
(1) Formed by DNA polymerase activity only
(2) Formed by RNA polymerase activity only.
(3) Formed in elecoryotic cells only
(4) Formed at both DNA and RNA

Options :

92090662737. 1

92090662738. 2

92090662739. 3
92090662740. 4

Question Number : 85 Question Id : 92090615879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HATRTATR EUST & 999 ¥ 79 97 8-¢
(1) waa DNA viciis T g s9d € 1(2) e RNA aieiiiis fran grn == 2 |
(3) had IhiFifeeh HIRIHA § 59d & | (4) DNA 3R RNA TH & &4 & 2|

Options :

92090662737. 1
92090662738. 2
92090662739. 3
92090662740. 4

Question Number : 86 Question Id : 92090615880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pribnow box is located at :

(1)  —35 position (2) —10 position
(3)  +25 position (4) -75
Options :

92090662741. 1
92090662742. 2
92090662743. 3
92090662744. 4

Question Number : 86 Question Id : 92090615880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=117 e 9/ S -

(1) -35¥H T (2) -10®™H W
() +25 AW (4) -T5 M T
Options :

92090662741. 1
92090662742. 2
92090662743. 3
92090662744. 4



Question Number : 87 Question Id : 92090615881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the operators A and B satisfy the communication relation [A,B]=1. where I is an

identity operator, then L:*" ,B] is:

(1) e? (2) {z"",AJ
@ B4 4 I
Options :

92090662745. 1
92090662746. 2
92090662747. 3
92090662748. 4

Question Number : 87 Question Id : 92090615881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af¢ §F A 3R B Huldtma 9= (A B|=1, @ | v =TS GF0E 8, F Tq8
0 &, 91 b4 .B| %

(1) o4 @ [2.a]
@ |=.4] 4 I
Options :

92090662745. 1
92090662746. 2
92090662747. 3
92090662748. 4

Question Number : 88 Question Id : 92090615882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ground state energy of a particle in a two dimensional potential

Vh;y}:énunﬂr3+4yg)ﬁ:

hie

(1) 2 (2)  hw
3
(3) ;J‘rw (4) 2hw
Options :

92090662749. 1
92090662750. 2
92090662751. 3
92090662752. 4

Question Number : 88 Question Id : 92090615882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁqfﬁﬁ fafrr feufes Vix,y ::kal}-mn-'jtrz - :i}'z} e Ush Ul =hi Y-+1 FAl %:

oy = @
y 3
(3) 5 hw (4) 28w
Options :

92090662749. 1
92090662750. 2
92090662751. 3
92090662752. 4

Question Number : 89 Question Id : 92090615883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The property of an element which is most dependent on shielding effect 1s:

(D atomic mass (2) atomic number
(3) neutron number (1) atomic radius
Options :

92090662753. 1
92090662754. 2
92090662755. 3
92090662756. 4



Question Number : 89 Question Id : 92090615883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fohfl e =1 98 01 S IfEen g9E W T AT FYER Fa 2, -

(1) W] gEHH (2) WEW] HE&AT
(3) =IgH wEm (4) = B
Options :

92090662753. 1
92090662754. 2
92090662755. 3
92090662756. 4

Question Number : 90 Question Id : 92090615884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the electrolysis of water, 0.504 g of H, is liberated at the cathode. The mass
of 0, formed at the anode 1s:

(1) 320g (2 160g
(3) 80g (4) 40g
Options :

92090662757. 1
92090662758. 2
92090662759. 3
92090662760. 4

Question Number : 90 Question Id : 92090615884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A h! THAGIAHE b G, HI1E T 0.504 . H, Gad Bl 8 | TAIS W ITH0,
M 8-

(1) 32,07 (2) ls.0m.
(3) B8.0m. (4) 4.07m
Options :

92090662757. 1
92090662758. 2



92090662759. 3
92090662760. 4

Question Number : 91 Question Id : 92090615885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given reaction

1 Adenine + X — Adenosine

11  Adenosine + Y — Adenylic Acid

X and Y represent:

X ¥

(1) | Phosphate group | Sugar molecule

(2) | Sugar molecule | Phosphate group

(3) | Sugar molecule | Nitrogenous base 5

(4) | Nitrogenous base | Sugar molecule

Options :

92090662761. 1
92090662762. 2
92090662763. 3
92090662764. 4

Question Number : 91 Question Id : 92090615885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& sifufean

I wEfH + X — wEHif

[ uwEAfEE + Y — gefifes sma

X 3 Y vefiia & &-
X Y
(1) | e HE IR 3]
(2) | THT 37 HIEhe HYE
(3) | THT 3] EGISH I &R 5
(4) | FTEEISH FHRT ATH | IHT I

Options :
92090662761. 1



92090662762. 2
92090662763. 3
92090662764. 4

Question Number : 92 Question Id : 92090615886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following feature which is not true regarding eukaryotic cell is:
(1) It has 80s type of ribosomes present in the cytoplasm
(2)  Mitochondria in them have circular DNA
(3) It has 80s types of ribosomes in the mitochondria
(4)  Most of the DNA 1s in the nucleus that 1s bounded by a double membrane
Options :
92090662765. 1
92090662766. 2

92090662767. 3
92090662768. 4

Question Number : 92 Question Id : 92090615886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feTaT 1 THLATH FifvrR + ded § & 981 8-

(1) 39 % 80s UK & TSAHEM HIETH 729 § IIFEST 2 & |
(2) ¥ ATEEIHI-ga1 § g DNA B 2 |

(3) 5% 80s THE & TEIEN HEihi-2a1 o STfEAT &9 & |
(4) =z 1§ FAfumat DNA 3 faeelt 390 20 £
Options :

92090662765. 1

92090662766. 2

92090662767. 3
92090662768. 4

Question Number : 93 Question Id : 92090615887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The kinetic energy of a proton having deBroglie wavelength of 1.000fm is:
Given: Plank’s constant = 4.136 x 10 ev.s

Proton rest mass energy = 0.938 GeV

Speed of light = 3.0 x 10* m/s

(1) 1.240 GeV (2) 1.555 GeV
(3) 617 MeV (4) 617 GeV
Options :

92090662769. 1
92090662770. 2
92090662771. 3
92090662772. 4

Question Number : 93 Question Id : 92090615887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Ui faae € wie aiesE 1.000fm &, 1 Tias Ha1 8

fem 8 =T s = 4.136 X 1015 ev.s
el 3w F41 = 0.938 GeV
UeRTH T T = 3.0 % 10% m/s

(1) 1.240 GeV (2) 1.555 GeV
(3) 617 MeV (4) 617 GeV
Options :

92090662769. 1
92090662770. 2
92090662771. 3
92090662772. 4

Question Number : 94 Question Id : 92090615888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ground state energy of an electron placed in a box of 0.125 nm 1s 30 eV. Its

energy 1n the first excited state 1s:

(1) 60 eV (2) 9deV
(3) 120 eV (4) 240eV
Options :

92090662773. 1
92090662774. 2
92090662775. 3
92090662776. 4

Question Number : 94 Question Id : 92090615888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Seideia i %6 0.125 nm % =70 4 o &, 1 9 @ Sl 30 eV 8 | 7yH Ffed &
T ZHhl Sl &ifi-

(1) 60eV (2) 90eV
(3) 120eV (4) 240 eV
Options :

92090662773. 1
92090662774. 2
92090662775. 3
92090662776. 4

Question Number : 95 Question Id : 92090615889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The statements correct about Sterols are:

(A)  Cholesterol is the major sterol in animal tissue.

(B)  Cholesterol i1s amphipathic.
() Ergosteraol is found in fungi

(D)  Bacteria can synthesize most of the sterols.

(E)  Plant tissue lacks stigmosterol.

Choose the correct answer from the options given below :

(1)  (A), (C) and (E) only (2) (A), (B) and (D) only
(3)  (A), (B)and (C) only (4) (C), (D) and (E) only
Options :

92090662777. 1
92090662778. 2
92090662779. 3
92090662780. 4

Question Number : 95 Question Id : 92090615889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & fava T SF- w29 wd E-

(A) iq Fa% ° §& Eiid Faeilid ¢ |

(B) TR 399 Ha A 2|

(C) HOARERIA Has H TE1 11 ¢ |

(D) 3rferehat THIeT 1 HYeoT SFLITEn i 2 |

(E) 99 9% § W Wi 5 938 T4 8 |

+ie feu 7o faweqi § 9@ 3faa 3@ =1 ==w Hifav .

(1)  =ad (A), (C) 31 (E) (2) == (A), (B) 31 (D)
(3) == (A), (B) 3 (C) (4) = (C), (D) 3t (E)
Options :

92090662777. 1
92090662778. 2
92090662779. 3
92090662780. 4

Question Number : 96 Question Id : 92090615890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of hydrogen bonds in a B-DNA with 800 base pairs, in which 20% at
deoxyribo nucleotide occurring with adenosine base, 1s:

(1) 2400 (2) 2240
(3) 2420 (4) 2042
Options :

92090662781. 1
92090662782. 2
92090662783. 3
92090662784. 4

Question Number : 96 Question Id : 92090615890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



800 YR F=] = @Y, Th B-DNA T gEgieH 3madi 6l g@, 59 4 20% Szl
IfFAsAeEe TEHIEE 9T % 919 9@ 06T 8, 8-

(1) 2400 (2) 2240
(3) 2420 (4) 2042
Options :

92090662781. 1
92090662782. 2
92090662783. 3
92090662784. 4

Question Number : 97 Question Id : 92090615891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dimer formation between two adjacent thymidine residues on the same DNA strand
1s caused by:

(1) X-rays (2) Gamma rays
(3) UV radiation (4) Nitrous acid
Options :

92090662785. 1
92090662786. 2
92090662787. 3
92090662788. 4

Question Number : 97 Question Id : 92090615891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 TG JEHIE I + T S F Uh 8 DNA T8 T F94 FT HA0 8-

1) = (2) Tmr -1
(3) UV fafmm (4) -TEeH I
Options :

92090662785. 1
92090662786. 2
92090662787. 3
92090662788. 4

Question Number : 98 Question Id : 92090615892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average velocity of hydrogen molecule at 100 K 1s twice that of oxygen
molecules at temperature:

(1) 200 K (2) 400K
(3) 800 K (4) 1600 K
Options :

92090662789. 1
92090662790. 2
92090662791. 3
92090662792. 4

Question Number : 98 Question Id : 92090615892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 k T g12gIeH & 3] &1 Hi&a o, o aome W eadi=q & 9] & 3itEd o1 § e
g1 &, 9% 2-

(1) 200k (2) 400k
(3) 800k (4) 1600 k
Options :

92090662789. 1
92090662790. 2
92090662791. 3
92090662792. 4

Question Number : 99 Question Id : 92090615893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relation between K. and K, for reaction

CH,(g)+2H,Olg) # CO,(g)+4H,(g) K is:

K.
1 K- =KpRT - R
(1) ( I (2) C=or
Kp - o
@) Kgp= (4) K.=Kp(RTY

" (RTP

Options :
92090662793. 1



92090662794. 2
92090662795. 3
92090662796. 4

Question Number : 99 Question Id : 92090615893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR CH (g)+2H.0(g) — CO,(g)+4H,(g)% faU K, 3R K, 4 9=9 g-

. Kp
1) Kq=KpRT 2 Egel
(1) e =Ky (2) K, =
K 2
3) K,=—£ (4) K¢ =Kp(RTY
( ¢ = r} ) K¢=Kpl

Options :

92090662793. 1
92090662794. 2
92090662795. 3
92090662796. 4

Question Number : 100 Question Id : 92090615894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement (I)) When Li metal is burnt in air, it mainly gives LizO

Statement (IT): Stability of superoxides of alkali metals increases as the size of
alkali metals increases

In the light of the above statements, choose the correct answer from the options
given below

(1) Both Statement I and Statement II are true
(2) Both Statement | and Statement I are false
(3) Statement [ 1s true but Statement 11 1s false

(4) Statement [ 15 false but Statement Il is true

Options :
92090662797. 1
92090662798. 2



92090662799. 3
92090662800. 4

Question Number : 100 Question Id : 92090615894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i g Fue feu U E

Fu (I): 79 Li vrg &1 99 § gg o o 2, a1 98 gega: Li,Ogar 2 |

FYA (II) : &R 9Ig3 & Gr-AT90se = R, & 9q3i & R § g & 19
=gl 8 |

IHIRF HYA & T 4, 99 G T faweni § O wed I9g I 61 95 S

(1) =94 1 30 11 2HT wét &
(2) wyF 1 3R I g T4 &
(3) = 15d 2, dfe 2 [ 7o &
(1) FUF 174 &8, e w99 [[ 98 8

Options :

92090662797. 1
92090662798. 2
92090662799. 3
92090662800. 4



